


Fixing of carbon into glucose
CO2
(
Combines with a 5 carbon sugar (RDP) in chloroplast
(
To form a 6 carbon sugar that splits to form
 two 3 carbon compounds (PGA) phosphoglyceric acid
that will combine with 

2H 

that were supplied from NADPH2 from the light reactions
Energy for this comes from the ATP from the light reactions.
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And forms
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Two molecules of PGAL, a nutrient


H2O 
                   Or converted to    

that is released as a

                     (      (
            a by product  (          

 The 5 carbon sugar
Glucose
      that is used 

     to combine 

       with CO2
